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Note : Answer questions from each Section as per 

instructions.  

Section—A 

Note : Answer any two questions from this Section.  

2 × 20 = 40 

1. (a) Distinguish between perfect competition 
and monopolistic forms of market. 8 

(b) In monopolistic competition why the actual 

level of output produced by a firm is 
always less than the optimum level of 
output ? Explain. 12 
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2. (a) What is Minimum Wage Law ? Describe 
the role of trade unions in influencing 
wages and level of employment. 10 

(b) Is the demand for factors of production a 
derived demand ? Give reasons. 10  

3. (a) What do you understand by ‘Market 
Failure’ ? Explain with the help of an 
appropriate diagram, how negative 
externality affects the allocation of 
resources. 10 

(b) What do you mean by efficient allocation of 
factors of production ? Explain it with the 
help of an Edgeworth box diagram. 10   

4. State the Ricardian theory of comparative 
advantage. How do nations gain from trade ? 
Explain with the help of an example. 15+5 

Section—B 
Note : Attempt any four questions from this 

Section. 4 × 12 = 48 

5. A firm in a perfectly competitive market may 
earn supernormal profit in short-run but earns 
normal profit in long-run. Explain with the help 
of a diagram.  12 
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6. Can a monopoly firm earn supernormal profit 
in long-run ? Explain. Why does a monopoly 
firm change that price, where price elasticity of 
demand is greater than one ? 6+6  

7. “The rate of interest is determined by the 
demand and supply of loanable funds.” Explain 
with the help of a diagram. 12 

8. What is Prisoner’s Dilemma ? Explain the 
behaviour of firms in the oligopolistic form of 
market.   12 

9. Does profit arise due to innovation ? Give 
arguments to substantiate your answer. 12 

10. Discuss the role of WTO in Indian Economy. 12 
Section—C 

11. Write short notes on any three of the  
following :  3 × 4 = 12 

(i) Mark-up pricing in Public Monopoly 

(ii) Shut down point in perfect competition 

(iii) Labour supply curve 

(iv) Cartel 

(v) Factor abundance 
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ch- ,- (lkekU;) (ch- ,- th-) 

l=kkar ijh{kk 

fnlEcj] 2022 

ch- bZ- lh- lh--132 % O;f"V vFkZ'kkL=k ds fl¼kUrµII 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % izR;sd Hkkx ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A 

Hkkx&d 

uk sV % bl Hkkx ls fdUgha n k s iz'uksa ds mÙkj fyf[k,A  

2 × 20 = 40 

1- (d)  cktkj ds iw.kZ izfr;ksfxrk vkSj ,dkf/dkjkRed 

:iksa ds chp varj dhft,A 8 

([k)  ,dkf/dkjkRed izfr;ksfxrk cktkj esa ges'kk 

mRiknu dk okLrfod Lrj mRiknu ds b"Vre~ 

Lrj ls de D;ksa gksrk gS \ le>kb,A 12 
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2- (d)  U;wure etnwjh vf/fu;e D;k gS \ etnwjh vkSj 

jkstxkj ds Lrj dks izHkkfor djus esa Jfed 

la?kksa dh Hkwfedk dk o.kZu dhft,A 10 

([k)  D;k mRiknu ds dkjdksa dh ek¡x] O;qRiUu ek¡x 

gS \ dkj.k nhft,A 10 

3- (d)  ^cktkj foiQyrk* ls vki D;k le>rs gSa \ ,d 

mi;qDr vkjs[k dh lgk;rk ls le>kb, fd 

udkjkRed ckárk fdl izdkj lalk/uksa ds 

vkcaVu dks izHkkfor djrh gSA 10 

([k)  mRiknu ds dkjdksa ds dq'ky (n{k) vkcaVu ls 

vki D;k le>rs gSa \ bls ,d ,toFkZ ckWDl 

vkjs[k dh lgk;rk ls le>kb,A 10 

4- rqyukRed ykHk dk fjdkMksZ dk fl¼kUr crkb,A 

fofHkUu jk"Vª O;kikj ls ykHk dSls izkIr djrs gSa \ ,d 

mnkgj.k dh lgk;rk ls le>kb,A 15$5 
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Hkkx&[k 

uk sV % bl Hkkx ls fdUgha p kj iz'uksa ds mÙkj fyf[k,A  

4 × 12 = 48 

5- iw.kZ izfr;ksfxrk esa ,d iQeZ vYidky esa vlkekU; 

ykHk dek ldrh gS ijUrq nh?kZdky esa lkekU; ykHk 

dekrh gSA ,d vkjs[k dh lgk;rk ls le>kb,A 12 

6- D;k ,d ,dkf/dkjh iQeZ nh?kZdky esa vlkekU; ykHk 

izkIr dj ldrh gS \ le>kb,A ,d ,dkf/dkjh iQeZ 

dher D;ksa ifjofrZr djrh gS] tgk¡ ek¡x dh dher 

yksp ,d ls vf/d gks \ 6$6 

7- ¶C;kt dh nj ½.k;ksX; iQ.M dh ek¡x vkSj iwfrZ ds 

}kjk fu/kZfjr gksrh gSA¸ ,d vkjs[k dh lgk;rk ls 

Li"V dhft,A 12 

8- cUnh (dSnh) dh nqfo/k D;k gS \ cktkj ds 

vYikf/dkj izfr:i esa iQeks± ds O;ogkj dks le>kb,A  

12 

9- D;k uoizorZu (ubZ [kkst) ds dkj.k ykHk c<+rs gSa \ 

vius mÙkj dh iqf"V ds fy, rdZ nhft,A 12 
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10- Hkkjrh; vFkZO;oLFkk esa fo'o O;kikj laxBu (WTO) 

dh Hkwfedk dh foospuk dhft,A 12 

Hkkx&x 

11- fuEufyf[kr esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡ 

fyf[k, %   3 × 4 = 12 

(i) ykxr tek vk/kj ij lkoZtfud ,dkf/dkj esa 

dher&fu/kZj.k 

(ii) iw.kZ izfr;ksfxrk esa mRiknu can djus dk fcanq 
(iii) Je vkiwfrZ oØ 

(iv) dkVsZy (mRiknd&la?k) 

(v) dkjd izpqjrk 
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